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A=-15+41-72-50+84
B=72-15+63-79-4.6

C=-92-54+7.1-63-4.7
D=83+72-65-0.7+6.5-4.1
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a. (-7,2) + (+4,1)

b. (+8,1) — (+8,5)
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(+6,4) - (-5,2)
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(-4,1) - (+7,9)
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(+9,9) + (+6,6)

f. (-8,8)—(-7,7)

(-4,01) + (-2,3)
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(+6,02) + (+9,003)

(-0,25) — (-8,75)

(-9,103) + (-1,21)
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9)+(+11); C =(+5)+(-13)
(-8)+(-11); F =(+43)+(-3.7)

+5.75)+(~6.89); | =(—6.1)+(~3.5)
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(-12)-(-3); B =(+9)-(+5); C (+13) (13

(—5.4)—(+4.5); £ =(—7)—(—10) F =( 11)—(—11)

(-4)—(+4); H =(+6.8)—(~6.8); | =(5.75)—(+2.25)
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A =(+6)—(+7)+(-12)—(—4)+(+9)
B =(-11)+(-14)~(+31)—(-21)+(+30)
C =(=1)+(=2)~(-3)+(4)+(+5)~(+6)
D =(-23)+(+45)— (+67)+(+23) — (—45)
F =(-7,1)+(-9,5)—(-2.1)+(+1,7) - (+4,3)
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